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QUESTION 1

The volume efficiency modify command, enables which three storage efficiency technologies when applied to a FlexVol
volume? (Choose three.) 

A. compaction 

B. thin-provisioning 

C. compression 

D. RAID-TEC 

E. deduplication 

Correct Answer: CE 

Reference:
https://library.netapp.com/ecmdocs/ECMP1610211/html/GUID-2593A6B9-C800-4ABE-8033DC82F12B4027.html 

 

QUESTION 2

A company has implemented a MetroCluster cluster. The company wants to use MetroCluster TieBreaker to monitor
and detect failures of the cluster. 

In this situation, which three components are monitored? (Choose three.) 

A. nodes through local node interfaces 

B. FC connectivity of the ATTO bridges 

C. FC connectivity of the fabric switches 

D. the cluster, through cluster designated interfaces 

E. the surviving cluster 

Correct Answer: ADE 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.hw-
metroclustertiebreaker%2FGUID-79A81337-B147-4497-A1D4-D7802FC23D76.html 

 

QUESTION 3

A customer has setup an SVM DR relationship to provide disaster recovery capability at the SVM level. The secondary
site has a different network configuration. They want to replicate the protocol and services 

configuration of the primary SVM to the secondary SVM when creating the SVM DR relationship. Which two actions will
accomplish this task? (Choose two.) 

A. Set the identity preserve option to false. 
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B. Set the discard configuration network option. 

C. Set the vserver-dr-protection unprotected option. 

D. Set the identity preserve option to true. 

Correct Answer: BD 

Reference: https://blog.netapp.com/simplified-svm-level-data-protection-using-oncommand-systemmanager-9-5/ 

 

QUESTION 4

You have recently installed and set up a new NetApp HCI deployment in your data center that consists of four compute
nodes and four storage nodes. Inside this HCI deployment, you are using ONTAP Select for file services. You must
protect the data inside the ONTAP Select VM in case of a rack failure. 

Which two methods would accomplish this task? (Choose two.) 

A. Replicate the volumes using SnapMirror from inside the ONTAP Select VM to an existing ONTAP cluster. 

B. Enable FabricPools in the ONTAP Select instance. 

C. Replicate the SVMs from inside the ONTAP Select VM to an existing ONTAP cluster using SVM DR. 

D. Using SolidFire real-time remote replication, replicate the hosting volumes to an ONTAP cluster. 

Correct Answer: CD 

 

QUESTION 5

Click the Exhibit button. 

An employee\\'s computer and mapped home folder has been encrypted with ransomware. You are asked to restore the
data from a SnapVault repository. 

Referring to the exhibit, what happens when the volume is restored? 

A. All files in the volume are restored. 

B. The restore is performed locally. 
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C. The original data is decrypted in place. 

D. Only files that have changed in the volume are restored. 

Correct Answer: A 

 

QUESTION 6

Click the Exhibit button. 

You have a volume that was configured a year ago using the default Snapshot policy that is shown in the exhibit. You
need to increase the number of weekly maximum Snapshot copies to retain eight copies. 

Which additional action is needed to have eight weekly Snapshot copies in this volume after modifying the schedule? 

A. Delete six weekly Snapshot copies 

B. Reapply the default policy to the volume 

C. Wait six weeks for Snapshot retention. 

D. Modify the Snapshot reserve. 

Correct Answer: B 

 

QUESTION 7

A company is evaluating different data protection solutions. The company requires a solution that provides both local
failover and storage tiering. 

Which two solutions meet these requirements? (Choose two.) 

NS0-513 VCE Dumps | NS0-513 Study Guide | NS0-513 Exam Questions                                4 / 6

https://www.pass4itsure.com/ns0-513.html
https://www.pass4itsure.com/ns0-513.html
https://www.pass4itsure.com/ns0-513.html


https://www.pass4itsure.com/ns0-513.html
2024 Latest pass4itsure NS0-513 PDF and VCE dumps Download

A. a FAS9000A system with SSD aggregates and FabricPool 

B. a FAS8200A NetApp Private Storage (NPS) system and Cloud Backup 

C. an AFF A300A with StorageGRID WebScale 

D. a FAS2650A system with HDD aggregates and FabricPool 

Correct Answer: AC 

 

QUESTION 8

You have deployed the DP_Optimized (DPO) license on the destination cluster to support a high number of volumes
and peer relationships for setting up data protection with multiple source clusters. You want to obtain a list of
unprotected volumes on the source cluster and protect them. 

Which two management tools would be used to accomplish this task? (Choose two.) 

A. ONTAP CLI 

B. OnCommand Insight 

C. OnCommand System Manager 

D. OneCollect 

Correct Answer: AC 

 

QUESTION 9

You just created a mirror relationship using OnCommand System Manager in ONTAP 9.3. You review the relationship
using the CLI. 

In this scenario, what is the expected type and default SnapMirror policy? 

A. DP and DPDefault 

B. XDP and DPDefault 

C. DP and XDPDefault 

D. XDP and MirrorAllSnapshots 

Correct Answer: B 

 

QUESTION 10

You must create and establish schedules for NetApp Snapshot copies and NetApp SnapMirror replication 

mirrors, and you need to manage them from a centralized location. 
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Which two products would satisfy the requirements? (Choose two.) 

A. OnCommand System Manager 

B. NetApp SnapCenter 

C. OnCommand Insight 

D. Commvault IntelliSnap 

Correct Answer: AB 
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